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€4 AHP(Analytic Hierarchy Process) &t?

HI|=0| =0l &= gietE Q! (HetS o] XA E QI HILE X|&ot= SJAIZ2E
K& J| & (decision support system)2| GtLI

& d & (qualitative) A~ E E & o= CHIE 2 AFZ & (multi-criteria decision
making)0ll 22| AtE

“The Analytic Hierarchy Process(AHP) is not a magic formula or model that finds
the 'right' answer. Rather it is a process that helps decision-makers to find the
'best' answer.” (Decision by Objectives)
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& 22BN AIZEH 2 6
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@ SJAIZHEEZH I (Identifying objectives)

- E2 AMNEBE=S |6HA—| 2 Ml (objective) E éi‘él & HRJULH, #HMEOMH, SHIt
Sotdd, A M0, s2E g = Y00 &
@ 0ot 23 (ldentifying options for achieving the objectives)
@ 2AAZE J[E=4 A (Identifying the criteria to be used to compare the option)
- N2 UHE Uit HlwE floiAde 222 S4, 2t S2 & LIEE = U= NESE JI&E
o2 &0t0F &
-0l ANHE=E 5& Jt=soff0F otH, 80 & L& SHMSHE ISl OF &,
@ OHete T (Analysis of the options)
® =& ot e (Making choices)
® Feedback
& S AHO AIEHE, ZHt AFHAINHE |2 20| X3 Jbs
« MOl OISt Mol etz HHE s JIE &80 &
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CI=2 A o AFE A I H (Multiple Objective Decision Making)
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Ao B (8 = (“Go” vs “STOP” decision)
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| &3 Geven 0 |

goal

| &3 Geven 1|

criterion or
objective node

| &3 (leven 2 |
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(1 ™®It2l JHE 3H(conceptualizing)
e HWIH =2HE, Il A, CHOH HXH, HILAF, O|o2tH A = ZBIFCHAAFE O
2t JIE & € &M/ Brainstorming

@ "©WoPD|I= &8 L HSRXE & A (structuring

SHo A SEE MEoZ

« oiZotUAt ot= — & of

- O &gs 40let HELZ thE

- AHPOIA= 2H2 S8 HSELZ MEZ 3t

Jt= Xl &3 (weighting) & 224 A Z (consistency test)
X

E et &84 AtE (synthesizing)
st 2 (feedback)
QA0 SH2 SEHX0HH AIZ2EES s - QA2 EHO H|1e&2H JifA

« AHP HSZX M7Y, == 242 HE ME2A/MEE S 28
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& ZHAE 24 Z2(B/Cratio), NIFLYS X2 22 HESsta XNES AL
MEAl S Sol E=8 431610 AHP & 40f g+
B/CH] & th3l BEHr = 511532 X In(B/CHE) + ¢
(th, B/CH& > 1— /=1BCHE <1 — {=-1)
AUSELZg TEHE = a0 + ¢
hoa = 0.81220 + 2.23298x LJR - 2.29626x LIR? + 0.74302x [ JR?
+ 0.32728x MUIR?
e =0—71=1 a<l1l— ;=-1
(LIR: A8 XAITCX$E FFES 3L, MIR: AEY XAYST T LS T D)
HE=&E = 0| Al
o ANAE 2X& Z2:B/C=127 —» E=HLE=2722
o NHEYSE(HIIEZ HEA|): HIIE =4/16, BEHA| =25/170 - E=& 4= = -4.47
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